[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.0
0.005

q

o

k!

Ratio

o
3]

LT IlIIIIIIIl{*lillI‘IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=
2
N

10 1 10
TP vertr (cr%)

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKIPUSU__RECO
—e— DQM_V0001_R000000001__Global_CMSSW_mkFitPU50__RECO

[Efficiend —— DQM_V0001"R000000001 —Global —CMSSW_mkFitPUSOCowPtQuad_RECO
—— DOM_V0001_R000000001__Global _CMSSW_mkFitPUS0LowPtQuad-noBkwd __RECO

~ 0.05
9.045
2]
0.04
o)
9,035
o
£0.03
(]
0.025
0.02
0.015
0.01
0.005
q

0.8

Ratio

06F O TCEI T 117
-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
z
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.01
4

"
T

...............................................

...............................................

..............

K

Ratio

0.5

e

15 20
Sim. PV z (cm)

I
o



	Contents
	Page 1


